
Alignment of the CLIC beam delivery system.
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The blue curve presents  luminosity versus rms 
transverse  misalignment assigned to the BDS 
quadrupoles excepting 10 final
quadrupoles located before IP.
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TRANSVERSE MISALIGNMENT OF QUADRUPOLES  
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Decrease of luminosity due to vertical misalignment 
of the final 11 quadrupoles. The vertical misalignment 
of 10 nm was  separately  assigned to each of them.

The luminosity decrease versus rms vertical 
misalignment of all quadrupoles located in the 
BDS.

The red curve is luminosity versus rms transverse 
misalignment  assigned to all quadrupoles of the BDS.
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RMS roll angle of the quadrupoles,  µrad

∆k/k= 0.02 % 
∆k/k= 0.06 % 
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ROLL ANGLE OF QUADRUPOLESFIELD ERROR IN QUADRUPOLES
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The luminosity resulted from independently 
change of the quadrupole strength of each 
quadrupole to 0.006 %.
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TRANSVERSE MISALIGNMENT OF SEXTUPOLES  
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T he luminos ity loss  as  a function of the longitudinal 
              displacement of the vertical waist
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RMS BPM readings for the RMS horizontal quadrupole misalignment 10
um randomly assigned.

The simulations were done for the 2000 different seeds!

red bars     --  nominal energy 
blue bars   --  energy 2% lower than nominal energy
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                  and simulated alignment errors
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The simulations were done for the 2000 different seeds!

red bars     --  nominal energy 
blue bars   --  energy 2% lower than nominal energy
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red bars     --  nominal energy   blue bars   --  energy 2% lower than nominal energy
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Sextupoles & Multipoles 
are turned on

However, 6 final quads 
at  IP  are  not  moved 




